
 MIRROR  JEWELLERY  CABINET



Hardware list

1
Jewelry cabinet

2

3

4

5

6

Round rod

Rear support frame

Rear partition board

Motherboard

Base disc



Accessories list

3  Pcs

8   Pcs

A

B

C

D

E

F

G

1   Pcs

4   Pcs

1   Pcs

1   Pcs

Two in one screw（10*38mm）

Three in one nut（10x14mm）

Cross nut（6x40mm）

Cross machine wire （4x16mm）

Cross nut（6x20mm）

Screwdriver

Lock clockwise with screwdriverPress the screw rod by hand

Use a screwdriver to lock in the direction of the “+” sign     Disassemble along the direction of “-”sign

H 4   PcsAcrylic round stick

Hex Wrench（6mm）

3  Pcs



Step 2

Step 1
x 2A (10*38mm)

1

x 2B (10*14mm)

A

B

2

4

Extra one is spare

Extra one is spare



Step 4

Step 3

C 3

C

x 5C (6*40mm)

C

5

x 3C (6*40mm)

C



Step 6

Step 5
x 4E (6*20mm)

E

6

x 4H

H

H
D x 1

D

C


